			LLU			ULU			Total	
		Section Count	Enrollment	SCH	Section Count	Enrollment	SCH	Section Count	Enrollment	SCH
Agriculture	HNRS		16	48.0	7	12	36.0	7	28	84.0
Art and Design	HNRS		19	57.0	8	17	51.0	8	36	108.0
Business	HNRS				10	12	36.0	10	12	36.0
Coast and Environment	HNRS				5	6	18.0	5	6	18.0
Engineering	HNRS				7	8	22.0	7	8	22.0
Human Sciences & Education	HNRS	1	33	99.0	6	35	105.0	7	68	204.0
Humanities and Social Sciences	HNRS	14	210	630.0	38	190	570.0	52	400	1,200.0
Mass Communication	HNRS		20	60.0	5	24	72.0	5	44	132.0
Roger Hadfield Ogden Honors College	HNRS	17	280	826.0	23	290	702.0	40	570	1,528.0
Science	HNRS	3	35	105.0	10	40	120.0	13	75	225.0
Total		35	613	1,825.0	119	634	1,732.0	154	1,247	3,557.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

College of Agriculture

RESP				LI	LU	U	LU	MAST	ERS	SP I	PROF	DOCT	ORAL	TO ⁻	ΓAL
UNIT DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
HNRS	2010	001	3.0	16	48.0	6	18.0							22	66.0
HNRS	4000	001	3.0			1	3.0							1	3.0
HNRS	4000	002	3.0			1	3.0							1	3.0
HNRS	4000	003	3.0			1	3.0							1	3.0
HNRS	4000	004	3.0			1	3.0							1	3.0
HNRS	4000	005	3.0			1	3.0							1	3.0
HNRS	4000	006	3.0			1	3.0							1	3.0
COLLEGE TOT	AL	7		16	48.0	12	36.0							28	84.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

College of Art and Design

RESP					L	LU	U	LU	MAST	ERS	SP	PROF	DOCT	ORAL	T0	TAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	2021	010	3.0	11	33.0	5	15.0							16	48.0
							-									
	HNRS	2021	011	3.0	8	24.0	6	18.0							14	42.0
	HNRS	4000	010	3.0			1	3.0							1	3.0
	HNRS	4000	011	3.0			1	3.0							1	3.0
	HNRS	4000	012	3.0			1	3.0							1	3.0
	HNRS	4000	013	3.0			1	3.0							1	3.0
	HNRS	4000	014	3.0			1	3.0							1	3.0
	HNRS	4000	015	3.0			1	3.0							1	3.0
COLLE	GE TOT	AL	8		19	57.0	17	51.0							36	108.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

E.J. Ourso College of Business

RESP					LL	U	U	LU	MAST	ERS	SP	PROF	DOCT	ORAL	TO	TAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	4000	020	3.0			1	3.0							1	3.0
	HNRS	4000	021	3.0			1	3.0							1	3.0
	HNRS	4000	022	3.0			1	3.0							1	3.0
	HNRS	4000	024	3.0			3	9.0							3	9.0
	HNRS	4000	025	3.0			1	3.0							1	3.0
	HNRS	4000	026	3.0			1	3.0							1	3.0
	HNRS	4000	027	3.0			1	3.0							1	3.0
	HNRS	4000	028	3.0			1	3.0							1	3.0
	HNRS	4000	029	3.0			1	3.0							1	3.0
	HNRS	4000	120	3.0			1	3.0							1	3.0
COLLE	GE TOT	AL	10				12	36.0							12	36.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR

EXCLUDES AUDITS 14TH CLASS DAY FOR SPRING 2025

College of the Coast and Environment

RESP					LL	U	U	LU	MAST	TERS	SP	PROF	DOCT	ORAL	TOT	ΓAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	4000	030	3.0			1	3.0							1	3.0
	HNRS	4000	031	3.0			2	6.0							2	6.0
	HNRS	4000	032	3.0			1	3.0							1	3.0
	HNRS	4000	033	3.0			1	3.0							1	3.0
	HNRS	4000	034	3.0			1	3.0							1	3.0
COLLE	GE TOT	AL	5				6	18.0							6	18.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

College of Engineering

RESP					LL	U	U	LU	MAST	ERS	SP	PROF	DOCT	ORAL	TO ⁻	ΓAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	LINDO	0500	0.40	4 0 0 0											_	4.0
	HNRS	3500	040	1.0- 6.0			1	1.0							1	1.0
	HNRS	4000	040	3.0			1	3.0							1	3.0
	HNRS	4000	041	3.0			1	3.0							1	3.0
	HNRS	4000	042	3.0			1	3.0							1	3.0
	HNRS	4000	043	3.0			2	6.0							2	6.0
	HNRS	4000	044	3.0			1	3.0							1	3.0
	HNRS	4000	045	3.0			1	3.0							1	3.0
COLLEG	GE TOT	AL	7				8	22.0							8	22.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

College of Human Sciences & Education

RESP				LI	LU	ι	JLU	MAST	ERS	SP I	PROF	DOCT	ORAL	T0	TAL
UNIT DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
HNRS	1035	050	3.0	8	24.0	14	42.0							22	66.0
		030	3.0	0	24.0	14	42.0							22	00.0
HNRS	2020	050	3.0	15	45.0	5	15.0							20	60.0
HNRS	2021	050	3.0	10	30.0	12	36.0							22	66.0
HNRS	4000	050	3.0			1	3.0							1	3.0
HNRS	4000	051	3.0			1	3.0							1	3.0
HNRS	4000	052	3.0			1	3.0							1	3.0
HNRS	4000	053	3.0			1	3.0							1	3.0
COLLEGE TO	TAL	7		33	99.0	35	105.0							68	204.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

College of Humanities and Social Sciences

RESP					L	LU	UI	LU	MAST	ERS	SP	PROF	DOCT	ORAL	TO	ΓAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	2000	060	3.0	17	51.0	5	15.0							22	66.0
	HNRS	2013	060	3.0	11	33.0	10	30.0							21	63.0
	HNRS	2013	061	3.0	6	18.0	2	6.0							8	24.0
	HNRS	2020	060	3.0	13	39.0	8	24.0							21	63.0
	HNRS	2020	061	3.0	13	39.0	9	27.0							22	66.0
	HNRS	2020	062	3.0	7	21.0	15	45.0							22	66.0
	HNRS	2020	063	3.0	13	39.0	3	9.0							16	48.0
	HNRS	2020	064	3.0	13	39.0	9	27.0							22	66.0
	HNRS	2020	065	3.0	16	48.0	5	15.0							21	63.0
	HNRS	2020	066	3.0	8	24.0	14	42.0							22	66.0
	HNRS	2021	060	3.0	10	30.0	10	30.0							20	60.0
	HNRS	2021	061	3.0	13	39.0	6	18.0							19	57.0
	HNRS	2030	061	3.0	11	33.0	11	33.0							22	66.0
	HNRS	2030	062	3.0	12	36.0	10	30.0							22	66.0
	HNRS	2030	063	3.0	2	6.0	2	6.0							4	12.0
	HNRS	2033	060	3.0	2	6.0	3	9.0							5	15.0
	HNRS	2033	061	3.0	10	30.0	10	30.0							20	60.0
	HNRS	2033	062	3.0	12	36.0	6	18.0							18	54.0
	HNRS	2033	063	3.0	12	36.0	10	30.0							22	66.0
	HNRS	2406	060	3.0	8	24.0	2	6.0							10	30.0
	HNRS	2408	060	3.0	1	3.0	5	15.0							6	18.0
	HNRS	3500	060	1.0- 6.0			1	3.0							1	3.0
	HNRS	4000	060	3.0			1	3.0							1	3.0
	HNRS	4000	061	3.0			1	3.0							1	3.0
	HNRS	4000	062	3.0			2	6.0							2	6.0
	HNRS	4000	063	3.0			1	3.0							1	3.0
	HNRS	4000	064	3.0			1	3.0							1	3.0
	HNRS	4000	065	3.0			1	3.0							1	3.0
	HNRS	4000	066	3.0			1	3.0							1	3.0
	HNRS HNRS	4000 4000	067 068	3.0			1	3.0							1	3.0
	HNRS	4000	069	3.0			1 2	3.0 6.0							2	3.0 6.0
	HNRS	4000	160	3.0 3.0			2	6.0							2	6.0
	HNRS	4000	161	3.0			1	3.0							1	3.0
	HNRS	4000	162	3.0			1	3.0							1	3.0
	HNRS	4000	163	3.0			1	3.0							1	3.0
	HNRS	4000	164	3.0			1	3.0							1	3.0
	HNRS	4000	165	3.0			1	3.0							1	3.0
	HNRS	4000	166	3.0			1	3.0							1	3.0
	HNRS	4000	167	3.0			1	3.0							1	3.0
	HNRS	4000	168	3.0			2	6.0							2	6.0
	HNRS	4000	169	3.0			1	3.0							1	3.0
	HNRS		860	3.0			1	3.0							1	3.0
	TINNO	+000	000	5.0				0.0								0.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

Office of Data & Strategic Analytics kristy\Enrollment\Fall Enrollment with Demographics.egp (HSE Enrollment - Pell, First Gen)

HNRS	4000	861	3.0	1	3.0	1	3.0
HNRS	4000	862	3.0	1	3.0	1	3.0
HNRS	4000	863	3.0	1	3.0	1	3.0
HNRS	4000	864	3.0	1	3.0	1	3.0
HNRS	4000	865	3.0	1	3.0	1	3.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

College of Humanities and Social Sciences

RESP			LI	LU	ι	JLU	MAST	ERS	SP	PROF	DOCT	ORAL	TO	OTAL
UNIT DEPT CRS	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
HNRS 4000	866	3.0			1	3.0							1	3.0
HNRS 4000	867	3.0			1	3.0							1	3.0
HNRS 4000	868	3.0			1	3.0							1	3.0
HNRS 4000	869	3.0			1	3.0							1	3.0
COLLEGE TOTAL	52		210	630.0	190	570.0							400	1200.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

Manship School of Mass Communication

RESP					LI	LU	U	LU	MAST	ERS	SP	PROF	DOCT	ORAL	TO	TAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	2030	070	3.0	12	36.0	7	21.0							19	57.0
	HNRS	2030	071	3.0	8	24.0	11	33.0							19	57.0
	HNRS	4000	070	3.0			2	6.0							2	6.0
	HNRS	4000	071	3.0			1	3.0							1	3.0
	HNRS	4000	072	3.0			3	9.0							3	9.0
COLLE	GE TOT	AL	5		20	60.0	24	72.0							44	132.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

Roger Hadfield Ogden Honors College

RESP					L	_LU	ι	JLU	MAST	ERS	SP	PROF	DOCT	ORAL	TO	TAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	1010	900	1.0	1	1.0	4.4	11.0							12	12.0
				1.0		1.0	11	14.0								14.0
	HNRS HNRS	1010 1010	916 931	1.0	3	3.0	14 12	13.0							14 15	16.0
		1010	946	1.0	2	2.0	15	15.0							17	17.0
	HNRS	1010	961	1.0	2	2.0	15	16.0							15	16.0
	HNRS	1010	976	1.0	1	1.0	18	18.0							19	19.0
	HNRS	2000	900	3.0	12	36.0	10	10.0							12	36.0
	HNRS	2000	902	3.0	14	42.0	8	24.0							22	66.0
	HNRS	2000	903	3.0	8	24.0	2	6.0							10	30.0
	HNRS	2009	900	3.0	11	33.0	4	12.0							15	45.0
	HNRS	2010	900	3.0	9	27.0	6	18.0							15	45.0
	HNRS	2013	900	3.0	15	45.0	4	12.0							19	57.0
		2013	901	3.0	11	33.0	4	12.0							15	45.0
	HNRS	2015	900	3.0	13	39.0	7	21.0							20	60.0
	HNRS	2020	900	3.0	10	30.0	9	27.0							19	57.0
	HNRS		901	3.0	8	24.0	12	36.0							20	60.0
	HNRS	2021	900	3.0	12	36.0	8	24.0							20	60.0
	HNRS	2021	901	3.0	9	27.0	11	33.0							20	60.0
	HNRS	2021	902	3.0	10	30.0	7	21.0							17	51.0
	HNRS	2021	903	3.0	14	42.0	7	21.0							21	63.0
	HNRS	2021	904	3.0	8	24.0	9	27.0							17	51.0
	HNRS		905	3.0	8	24.0	2	6.0							10	30.0
	HNRS	2021	906	3.0	9	27.0	7	21.0							16	48.0
		2100	900	3.0	13	39.0	9	27.0							22	66.0
	HNRS		901	3.0	13	39.0	9	27.0							22	66.0
	HNRS		902	3.0	13	39.0	9	27.0							22	66.0
		2100	903	3.0	9	27.0	8	24.0							17	51.0
	HNRS		904	3.0	10	30.0	12	36.0							22	66.0
	HNRS	2100	905	3.0	9	27.0	6	18.0							15	45.0
	HNRS	2402	900	3.0	9	27.0	14	42.0							23	69.0
	HNRS	2408	900	3.0	13	39.0	6	18.0							19	57.0
	HNRS	3025	900	3.0	3	9.0	11	33.0							14	42.0
	HNRS	3100	900	1.0- 6.0			7	21.0							7	21.0
	HNRS	4000	760	3.0			1	3.0							1	3.0
	HNRS	4000	761	3.0			1	3.0							1	3.0
	HNRS	4000	762	3.0			1	3.0							1	3.0
	HNRS	4000	763	3.0			1	3.0							1	3.0
	HNRS	4000	764	3.0			1	3.0							1	3.0
	HNRS	4000	765	3.0			1	3.0							1	3.0
	HNRS		766	3.0			1	3.0							1	3.0
COLLE	GE TOT	AL	40		280	826.0	290	702.0							570	1528.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.

College of Science

RESP					LLU		ULU		MASTERS		SP PROF		DOCTORAL		TOTAL	
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	1036	090	2.0	15	45.0	7	01.0							22	66.0
				3.0		45.0		21.0								
	HNRS	2010	090	3.0	12	36.0	2	6.0							14	42.0
	HNRS	2010	091	3.0	8	24.0	10	30.0							18	54.0
	HNRS	3025	091	3.0			10	30.0							10	30.0
	HNRS	4000	090	3.0			1	3.0							1	3.0
	HNRS	4000	091	3.0			2	6.0							2	6.0
	HNRS	4000	092	3.0			1	3.0							1	3.0
	HNRS	4000	093	3.0			1	3.0							1	3.0
	HNRS	4000	094	3.0			1	3.0							1	3.0
	HNRS	4000	095	3.0			2	6.0							2	6.0
	HNRS	4000	096	3.0			1	3.0							1	3.0
	HNRS	4000	097	3.0			1	3.0							1	3.0
	HNRS	4000	098	3.0			1	3.0							1	3.0
COLLEGE TOTAL		AL	13		35	105.0	40	120.0							75	225.0
GRAND	TOTAL		154		613	1825.0	634	1732.0	0	0.0	0	0.0	0	0.0	1247	3557.0

⁻ First Generation status excludes students whose parent graduated from college, attended/graduated from a professional school, or did not report the education level of a parent. These data are self-reported by the student, and can be updated by the student during their academic career. Beginning with the Fall 2021 cohort, first generation status excludes students whose parents hold a bachelor's degree or higher.